AP Calculus BC Name:
Unit 10 — (Days 1 - 5) - QUIZ REVIEW
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Find the third degree Taylor polynomial centered at 1 for the function f(x) = —

Find the second term of the Maclaurin polynomial for the function f(x) = sinx.

Use the third degree Maclaurin polynomial to approximate the value of e%2. Then use
Taylor’s Theorem to obtain an upper bound for the error of the approximation.

Determine the interval of convergence of the series:
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Given f(x)= Z Y , find a power series for f'(x).

Let f be the function f(x)= Z(—l)"(gj . Find the interval of convergence for
n=0

j f (x)dx.

Find a power series, centered at 1, for the function f(x) = and determine the
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interval of convergence.



